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Chapter 3
Laws of Algebra

« Laws of Exponents

e The Distributive Law

e« The product (a + b)(c + d)

« Difference of two squares

« Perfect squares expressions
e Further expansion
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To multiply numbers with the same base, keep the base and
add the exponents.

To divide numbers with the same base. keep the base and
subtract the exponents.

When raising a power to a power, keep the base and multiply
the exponents.

The power of a product is the product of the powers.
The power of a quotient is the quotient of the powers.

Any non-zero number raised to the exponent zero is 1.
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Write as powers of 3:
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Write without brackets (4x)3 x3y 4
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